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Review: Which identities do you know?

C51CJC - sinx
= cotx

tan’x + 1 = SQ_CZ)Q
sin(a —b) = SiN O-COsb —COSxS Ta LJ

cosacosb —sinasinb = COS (a+b>
tana — tan b
1+ tanatanb tan (ﬂ"b)

Homework questions? (a_, b)(a + b) - az— b’—
. |

1=, (SIM-COSQ(smx+cosx).-. |-2cos’x

2
LES = si0X—cos*X

Sin X +cofx=
- 2
= |~ cos'X—cog%x¢

sin x=|-csX
= |-2cos’x

= RAS
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Cofunction Identities

The funchon of an ansle s e.qwl o
Hhe cotunclion oF it s comfluv\eh-l: .

6100 . 01T
are (‘owplmu*wa_ a,\o\s
cos (%"5 = (05T Cosx +sing SinX

._}(2') = (O-osx + [« sinX

=SIinX

Double-Angle Identities
sin(Z 9)= Sin [6 +9)

= sinBcosO +¢cosOsin®
sn26= 2 Sin@cas@-j

The Sine of Hoice any q%le s equal fo
fwotinus the sive of Hpat avg’e +mes
The @sine of: that- ang fe..

Sin B = SiIn2(30 ) Qs5in30 036

Sh 8O =SI02(46)= 2sih& cos 4

SO =5in2(228) =25 RGces 226

Sn3Q =3in2(3R)-25n T %
*Si0@20+€) |

even multiole = dovble £ 5

0dd u\ul’bp‘?- 2 SuMm
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cos 26 = cos (6+6)

- SiB+c026=|
= cosTe—(I- (052@ 530 7|-wé
LC0526= Lo’ G — | o5 =|-Sit0

=1-Sin"@ -sip*E

@0529: [—2sin? @]

tan 260 = tan (Q +6>
= tanB+tan B
[~tanB tan&-

tan26 = E-l:am@ )
I=tan &
—

e o
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Double-Angle Identities

sin2x = 2sSInXx coS X

cos2x = cos’x — sin‘x
= 2cos’x — 1
=1 —2sin®x

2tan x
tan 2x =

1—tan? x

Given sin@ = —g , 6 €0l

Find sin 26, cos 26 ,tan 26, and the quadrant in which 26 lies.

sin26 = 2sinBcosE& o
2(3)(= 2|3
sinff= 4S5

9 _

oS0 = CO?J@—S}DQ@ O?eerL‘
= = (A
-6

) z? “g; = (\7 = (0526

JCCN) 28 -Si0 26

Cas26 fﬂ% = W?@j

April 09, 2013
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Half- Angle Identities
T cos > =
ol [
c0s20= I—Qsm g8 %26-‘-2@5’9*(
LetB= -— .
c032~(§-) [-2sin (%) Cosﬂ( —Qco': ;— |
C°§K=I-25m“z CO5X + | =2¢0d

Half-Angle Identities

. X 1—cosx 14+cosx
smz = + cos— +
. X N 1 —cosx
an— =+
2 1+ cosx
sinx
14+cosx

! X 1—cosx
2 sin x
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_- & dm o ) (G
tan ‘l:an 7 2((0>
— I—ms% .[:ar\_-\-cosx

. = SInx

SIN3x e
_ ~J3
=== —\7‘.\

=1

= A
=([+ U3 -2 —~
(&) (2 cos T /s ¢
A-2-43) e
Homework:

6.3 Handout #1-24; 30-36

A Memor\ze,

lc:lcrﬂ-rhesI | (
(Quiz Fri day>
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